Formulas

Square Rectangle
P=4s P=2L+2w
A=s’ A=Lw
Circle Triangle
C=1d = 2mir P=za+b+c
A = Trr

A= gbh or
Reqular Hexagon
P =6a d=2a
Cube Sphere
SA = 65 SA = 4mr?
V=s’ V=t

3
Prism Pyramid
L = ph L= Tps
SA=2B+L 2P
V = Bh SA=L+B
= 1Bn

Frustum of a Pyramid

= %(p1 + P2)s
SA=L+ B1 + 82

= (B + B, + BBy )h

Pythagorean Theorem
=22+ b2

Parallelogram Trapezoid

P=2b+2c P=by+c+by+d
A =bh A= 2(b1 + by)h
_ a+b+c

2
A= Js(s—a)(s—b)(s—c)

f==ayﬁ§ A = 32243

2

Rectanqular Prism
SA =2Lw + 2Lh + 2wh

V = Lwh

Cylinder Cone

L = 21rh L =T1Irs

SA = 21rh + 21ir? - SA = Tirs + Tir?
V=mrh V= lmrh

Frustum of a Cone
L= TI'(I'1 + rz)S
SA=L+ 'I'I'I"12 + TIT22

V= %TT(HZ + I’22 + I’1|’2)h

Sectors
S=r0
_ 12
= Er 0



